=L =

AX T L
1. T # 4 B G /NN B AE M RS B T

2. i T 3% pr AR IL—T H68 fill

3. T 1 BRIGERE Hos 40 64F 1H 31HZFT

BEaR e

[t/ A MR B SMEESE , BIRUUE  IR7m—V T WE
[FEgE/ i JE B ALl (PRl ds o Eb)

[FE 22 pg /NP | AR B, PR AL e (iR D7EUb)
[REE PP | 3B Mo Ll (Pl o)
ERCICHEO B GE fi g




G NP MR B RS R L (e % T T EAFE PR N AR E
WA E & 64,062,900 [
T 5 fil #% & 58,239,000 [
5,823,900 9

{H 2 PiAH 4 %A 4B




& W MmENERMAEENERIEETSE No.
£ b1 i3] =  Hx il 25 fi
[ERE=E =
1| BETEH 1 = 33,372,030
IT| FSbRaeiE T3 1 K 9,906,149
HETHEE 43,278,179
/\ﬁ%
I ot s 1 K 1,866,454
II| BGEsE 1 K 5,906,715
— s B 1 K 7,188,030
Fm Gt 14,961,199
&t 58,239,378
TSR SREE ST 17U e 58,239,000
TH B PSR 2 %E 5,823,900
WA (IFEE) 64,062,900




2 RN ERMAEENERIEF TS No.

£ G i = # 2 B4 Bl & %8
I |BEI=S
A | N 1 K 31,316,236
B [FEBE/ AR 1 K 566,721
C |FaEER /N2 1 = 487,079
D [fEEEP R 1 K 1,001,994
&t 33,372,030




£ miENERWAFENESEEIE No.
& L i = B i %8 fi

A [fRE/Ih R
1 |EERGETE 1 K 2,316,430
2 EEKETHE 1 =X 3,550,163
3 |BhAKUETHE 1 =X 12,770,612
4 |NEXRETHE 1 =X 5,167,012
5 |EEWETE 1 =X 5,146,479
6 |BiEKETHE 1 =X 1,622,015
7 |FOMTEHE 1 K 192,860
8 |-y 1 =X 550,665
&Ft 31,316,236
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& L i = # 2 B B i & %8
B |#EZE/INER
1 |EERGETE 1 K 94,052
2 |NESETHE 1 =X 153,742
3 |FoMmTEHE 1 K 226,740
4 |0y 1 =X 92,187
&t 566,721
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& L i = # 2 B B i & %8
C |HEER/INER
1 |EERGETE 1 K 151,680
2 |NESETHE 1 =X 37,548
3 |FoMmTEHE 1 K 208,040
4 |0y 1 =X 89,811
&t 487,079
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& L i = # 2 B B i & 28
D |HZESER
1 |EERGETE 1 K 346,492
2 |NESETHE 1 =X 174,238
3 |[FomTIE 1 KX 327,740
4 |0y 1 =X 153,524
&t 1,001,994
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(1) |/

1| s A G 2,393,090

2 | kaokERAE =X 191,222

3 fET=E = 405,225
/NG 2,950,137

(2) |FEBERG/NERL

1| frEss Bk = 2,389,190

2 VI = 193,157

3 | #WEITHE = 405,465
/NEF 2,987,812

(3) |FHFEHF R

1| s A G 3,163,640

2 | kaokERE = 262,130

3 fET=E = 542,430
ING 3,968,200
e 9,906,149




